o
[N

o
N

<d @> (rad)
o
=
a1
IIIIIIIII

— - . .
A E : :
20.15F : ;
9 ok : :
o E : :
) b . Joo
G O 5
0.05F -+ f--i- | R R
OF -+ g e e e
P S0 1 DS SO
0.4 f i F IREE § ERLEE SRREELETETEE
E : 1 |4 :
—0.15F oot
E e : :
F o | Y A I
o702 T TR T4 T 4 :
T - 114 4+ T4t e
c T TTlE
E : HIE 4
0.5+ B0 B R R 0 EEPEETTTTERRRe

0

10

2 3
TPlpoT (PCA t%obeamlinélf)

—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

= 100

0o bl A
S 02T
I o + 7T :
@ - - 1% +|
0.8F---- -1 ;
0.6F----- i+ " """""""""
—1 2 3
10 1 TPlpOT (PCA t%obeamliné[f)
—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
= 100,
g o
= 80
N
>
F 60
o
v 40

20F

0_100 P 1 |
B 18-
1 E
3
05F

<opyp, > ()

Ratio

[ay
o3
I8

1

<4

P

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

1

2 3
TPlp?T (PCA tjbobeamliné'f)




	Contents
	Page 1


